=
N7 = & F =
(L 7) @ Rl W o | | meee| % =
P Bl
(B Ahgiae T3]
E¥+T PRYE T (— W) B m3 50 50.76+1.0
RIE T(IR) ) m3 50 59.9
HET R m3 20 44.4+0.6
1w iER T +b m3 50 54.0
FEBE - THRR T HEEen T t=15¢cm,RC-40 | nd 18 18.1
¥jLa7)—+T. |t=5cm,18-8-25BB| m3 1 0.9
JE7) =L [ 1=40cm,24-8-25BB| m3 7 6.8
HL A AR L t=9mm m3 0.1 0.1
TR 7Y~ T, [t=30cm,24-8-25BB| m3 6 5.5
T EREEY m 8 7.7
R L SD295 D16 t 0.94
R L SD295 D13 t 0.03
/= t=8mm
HIET THIRKR (4%55E1) B D 4645 55 4
/= t=6mm
JEERR (1) 1500 X 4200 H 1
42 t=6mm
SRR (2) 1400 X 39238 imR| %5 2
/= t=8mm
TERR (1) 1500 X 4460 He 1
/= t=8mm
TERR (2) 1530 X 42014 IR | & 2
/=t=7.9mm
EKRE YR NEED644.6nm | 1
/= t=4.5mm
W g P AL £ O 652mm e 1
)= t=8mm
PEHI TR R h=0.3m H 4
NER AT H 1
B RS CIIRVA b VIR N N - 1




=
N7 = & F =
(L 7) @ Rl W o | | meee| % =
P Bl
RIE RS gpmALFLs | HE 1
<y PR AR 1 H 1
W7y
BB (B KR | Bo A Sk Bate| 36 1
SEFRPa—F > 7| FRPIEE t=2mm | nd 40
WEHFRP2— (> 7 | FRPIEIE t=0.5mm| nf 70
HRAA T IR & T AL 5 1
JEEARER & T 357 e 1
TERRGR & T 3455 p-e 1
W g e NfL-
oK bR E T HH 1
N =747
BRARBG AR 1T | FRPEUE t=0.5mm| At 1
BidokitigeszE T ¢600(T-25/) | % 1
D600 ZAED60.5
BFpHE T B ko MR E | ELiE (0500 <600 A 1
RTEE 7k T 40m3 = 1
FAkD - BREHRET oY 1
BIHT EZ L EREY m 44 44.9
% L AT +Hb m3 20 23.9
t=10cm
AT RC-40 i 38 37.8
AMTE L B = 1
e PEK T = 1
MR SR —Loor | ST 1




e

4 CLRE NV %

(TEZELT)
PRYE T HRYRD 1.50 m +gv 1.00 m
L ¢ 730 m LA 41.85
T ¢ 580 m FHEfE 26.42 nf

B,

(R (1)) (S0
Vi= (E/3)X(EEFE+ TEfE+v (B X TiEi)
(1.50+3)X(41.85+26.42+ (41.85 X 26.42) = 50.76 m

(PR3 (2)) (AT
V2= x X 4818 %/ 4 X 2.864 = 5222 m

102.98 m 103.0 m

»

W
-

I

MR T
(HE (1) (AR 1)
V3= m X( 4818 - 4661 2/ 4 X 2.55

M0 = 298 m
(HRE(2)) bl ¢ 730 m  _EEIFE 41.85 ni
T ¢ 630 m  FAfE 31.17 nf
(ML L)
V4= (RE/3 )X (L + T+ (L X T i) -ve’
(1+3)x(41.854+31.17+ (41.85%31.17) —0.34 = 36.04 m
(B AFLED)
va= o X 0.661 2/ 4 X 1.000 = 034 m
tm ¢ 630 m b 31.17 ot
T ¢ 580 m FAfE 26.42 nf
GRE FH)
Vo= (RE/3 )X (LmifE+ FHEfg+v (LffE X Fifg)-vs’
(0.5+3)X(31.17+26.42+ (31.17X26.42)-9.05 = 533 m
RHEER)
V5= @ X 4.800 2%/ 4 X 0.500 = 9.05 m
36.04 + 5.33 HE(©2) = 4137 mo
PR (1) +HE (2) 2.98+41.37 AR = 4435 m 44.4 m




£ FR -V % &
EHEER T
PR V= 0.814 X 0.60 2.0 = 098 m 1.0
WOHE R V= (0.314 X 0.60 0.114X0.114X3.14/4X2)
X 2.0 = 017 m 0.2
P V= 0.500 X 0.60 2.0 = 060 m 0.6
FEHAEE T |v7= 10298 +  0.98 (44.4+0.6)/0.9 = 53.96 m 54.0




4

%

il

(FLpfE-TERR T)
FepERA T
(t=15¢m,RC-40)

BLay)—h T

(t=5cm,18-8-25BB)

9 EVZAE

(t=40cm,24-8-25BB)

AN

(

i
)
=

i

=

e

mm)

—

TERR=V7)—b T

(t=30cm,24-8-25BB)

AR L

4.802

0.660

4.802

0.660

4.645

4.802

2.05

0.660

4.645

0.661

4.800

4.800

0.21

2/

2/

2/

2/

0.050

0.050

0.400

0.287

0.113

0.008

0.008

0.300

0.300

4

18.11

0.02

0.02

0.89

0.14

4.86

2.05

6.77

0.003

0.003

0.13

0.10

5.43

0.200

0.21

5.54

18.1 m2

0.9 m

6.8 m

0.1 m

5.5 m




G G S % R
TR e T
A= 7 X 4.800 X 0.510 769 i 7.7 m
SRFH L (TERR) (JEE )
D16 W= 502 + 437 939 kg 939 kg
(TERR) (JEERR)
D13 W= 12 + 15 27 kg 27 kg
(BUET)
AR
(4435E)) N= 4 4 I 4
JEEhR JEERR (1)
(34371) N= 1 1 e 1 5
JEERR (2)
N= 2 2 e 2 3
THRR TERR (1)
(34371) N= 1 1 X 1 %
TERR (2)
N= 2 2 JL 2 &
Y NINY L2 YN
N= 1 1 HH 1 %4
PEHIHE E
N= 4 4 pae 4 3
R S AE
N= 1 1 I 1 A
BIE RS
FSZFHAR /LR Tk | N= 1 1 L 1 A
BIE A
LI T AL | N= 1 1 pae 1 A
B Af
WNEERE T [N= 1 1 I 1 &
Bk N= 1 1 I 1 &




G G S % R
SEFRPa2—F 4
FRPIEE t=2mm |A= 40 = 40 n 40 mt
NIEFRP2—F (7
FRPIEE t=0.5mm|A= 70 = 70 n 70 m
(BRAAT)
IRRE & T N= 1 = 1 e 1 A
JEERNERE T N= 1 = 1 S 1 A
TERRGR & T N= 1 = 1 e 1 A
SEOKE b A FLER T
N= 1 = 1 % 1 #H
AR A B34 T
Wii2—7 427 | N= 1 = 1 pae 1 A
FRPIEJE t=0.5mm
BE KKl Sk 2R L
¢ 600 (T-25) N= 1 = 1 HH 1 %1
EkE AR 7 - T
(t=15cm,18-8-25BB) [vio= 1.000 1.000 X 0.150 = 0.15 m
(B)
Vil= 0.630 2/ 4 X  0.060 = 0.02 m
(FAFLED)
Viz= g 0.661 2/ 4 X 0.090 = 0.03 m
viz= 0.15 0.02 - 0.03 = 010 m 0.1 m
fﬂJ@I
A= 1.000 0.150 X 4 = 0.60 i 0.6 m




GG RS % &
(Bt L)
PO KA T N= 1 = 1 pAE 1%
(¢ 600)
JrRE K T N= 1 = 1 = 1K
Bokn-mRaEE L
HOgKkn (ESA)SUS ¢ 100X 75 = 1 *® 1 3
wiemmEt e = wiEgEmns | SGP-VS 100A
[ LR |SGP-VS 100A X 90°
Al Vv h |SGP-VS 100A
FHBLARL —— |SUS 100A = 1 1 1 &
B L L= = 6.1 m 6.1 m
EHETL  N= = 1 =X 1=
HAVE Bt kT |IN= = 1 MK 1 &
L =4 |VP ¢ 100
A /LR VP ¢ 100X90°
[l s v7 %7K [VP ¢ 100
EAIE L L= = 63 m 6.3 m
FikFEL N= = 1 X 1
BFRRT—7 |W150
BHRY—ML L= 6.1+ 6.3 = 124 m 12.4 m
27—k V= 1.2 X 0.5 0.1 = 0.06 m3 0.06 m3
Tl A= (1.2 + 0.5 2 X 01 = 034 nof 0.34 f
WO V= = 02 m3 0.2 m3




& i " K &
(fE1H L)
B2 T 7 X 7.500 2/ 4 = 4418 m 44.2 m2
R ERWER
(g% 1)
0.5‘ ‘0.5
BEGAD | 38 |
&% (RC-40)  t=10cm
LAt
4T 3.8 / 2 X 126 = 2394 m 239 m
(B 1)
AT 3.0 X 126 = 3780 m 37.8 m

(RC-40) t=10cm




